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QUESTION 1

If the required memory is not available to create a named cathe, the server will 

A. Fail the creation of the named cache 

B. Not create it until a reboot is done 

C. Allocate what memory is available and create it 

D. Take memory from the O/S 

Correct Answer: C 

 

QUESTION 2

Specifying a sample size for your statistics applies to: 

A. Create index 

B. sp_flushstats 

C. Update statistics  

D. Update index statistics 

Correct Answer: D 

 

QUESTION 3

What dboption must be true to fix allocation errors on a system table? 

A. dbo only 

B. No free space acctng. 

C. Select into/bulkcopy/pllsort 

D. Single user 

E. trunc log on chkpt 

Correct Answer: D 

 

QUESTION 4

Which SQL statement finds the first page of sysgams? 

A. Select first from sysobjects where id = object_id("sysgams") 
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B. Select first from sysindexes where id = object_id("sysgams") 

C. Select first from syscolumns where id = object_id("sysgams") 

D. Select first from sysgams 

Correct Answer: B 

 

QUESTION 5

A cache replacement policy of "relaxed" can reduce performance over "strict" by: 

A. Increasing the housekeeper free write disk i/o 

B. Increasing the amount of rows logged in the transaction log 

C. Increasing the total disk read i/o by aging out frequently used pages 

D. Increasing the wash area of the 2K buffer pool\\'s MRU-LRU page chain 

E. Decreasing the use of large i/o buffer pools 

Correct Answer: C 
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